N = 0l & At & Ml A

I=R=0=

DASA(SEE)

DIZA U BHEX XY CERED
SA BB S (EH) - NEAMY - B 0 4t o4 oI o HRE

892,470 885,557 6,913

MNMEHES) 485,471 478,558 6,913
SA & =H=T X 485,471 478,558 6,913
SIXXIHEEH 2SAE 28,761 26,528 2,233
405 TtobFH S 2,233 0 2,233
01 ML ESFHSH 2,233 0 2,233
OFUXXIEE AFRII10l 2 2,233,000& 2,233 0 2,233
cletaas X 234,560 229,880 4,680
301 LEENF 234,560 229,880 4,680
05 S& -0 - -tEEs=2a3 234,560 229,880 4,680
OIURSE =, 219,960 215,280 4,680
=g 23 169,200,000 169,200 165,600 3,600
&= 2 & 28,200,000 28,200 27,600 600

- FA 2 & 22,560,000 22,560 22,080 480




